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nam phan s0, thr tu cac phép toan c6 dau ngodc

-
Tén:
L 2y, 1 2 15
(5 (g)) 3 (3 2)
1—22x_—1—g2
(5 (g)) 3 (5 5)
Lol 11 1
G732 75679
1 lle_é_lz
(§+(§)) 5 (4 4)

Ngay thang:

DPiém:

3

3 3y, 1.3
((g) Z) 3 (5 +

4

2 3

y =

3

2 _
57

3, 3 2o 3 30
GP-5%5-G

3 2

X

N =

3 1
Y4 2P 52
( 5) 2
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S5 4 . .
!1% p (%ﬁ%} % E nam phan s0, thr tu cac phép toan c6 dau ngodc

Tén: Ngay thang: Diém:
12, 1 2 1, 1 1, 1 o, 1 497 _1
o (EVYx (LY = (- 5— Y2 - +024 =" =p7
G- GN*3- G737 =05 OG5 3 218 18
I 2, 1 1 2, 13 3 03, 1 1 1, 179
GG * 537G 737 = 15 GTGE*3+ G730 = 55
I 1, 11 1 169 3, 3.1 3 3, 78 381
P S (24 o) = — IR -y x = (2 + 22 = (- = (-1
G377 5G678 7 %0 (373G 3 =g~ Clage)

Lo oo 13 1, 1 3o 3,2 3 3, .1 _ .3
(§+(§)) 3 (4 4) 2 ((4) 2) 3 (2 4) (16) (116)
L o1, 11 1 4 3o b o 1 160 6
(§+§)+§(8 6) 9 (2+5) 2 . 2 (25) (625)
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